Warm Up:

1.Let f (x) =2z + 3 andlet g (z) = 2 — 3z. Find the value of (fg) (z) when z = 1.
A) 1 B) 7 C) -1 D) 5

@5 F)3 G)9 H) -3

2 =22 —4 and g (z) = v/ + 1. Find the domain of | < =t
.Let f(z) =+2z*—4 and g (z) = v/z + 1. Find the domain o (?) (z). Ngvrs l-[-
A) (=00, —2] U [2, 00) 00, —2) U (2,00) C)(—1,00) D) [—1,0)

E) 2, 00) @ o) G) (-1,2) H) R

3.Let f (z) = 2° and let g (z) = 2z. Find the value of (g o f) (z) whenz = 3.
A) 36 B) 144 C) 48 D) 72

@)8 F)4 G) 9 H) 6

4. Let f (z) =2z and let (f o g) (z) = z2. Find the value of g(4).

A)6 B) 2 C) 16 @ '
E)0 F)1 G) 12 4
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Examples:

Is each relation even, odd, neither, orm
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Transformations of Parent Graphs \f — % 2

Horizantal & Veritcal Shifts: ¥ C 1S PoSs.
Ny = (Xx-C)T  * ¢ units right
2. N = % +C)l » C. units lefF
3 y = X =-C % ¢ units down
= SN C wnts uwp

Reflections:
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Horizantal & Vertical Dialations: C> l
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Describe the translations given the following function:
f(x)=x"—8x+10

When the equation of the parabola is not in standard form, how
can we determine what the translations are?

Completing the Square: _

FX)=% - Ex+10
Fexdy-10 + 19 = x -8+ 102
6Ol = (x-H)7T

Flx)=(x-4)*-

Here is another example:
f(x):—x2+4x—6
~F(x) = xl- Y + o
S A SV T
—F(x)-2 = (=x-2)7
-F(xD) = (w-2)"7+ 2
x> = —(x-2) -2






